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Stat > Basic Statistics > 1-Sample t...
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One-Sample T: Yield

The assumed standard deviation = 3.33
Variable M Mean StDev SE Mean 90% CI
Yield 36 24.206 3.336 0.555  (23.293; 25.118)
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Stat > Basic Statistics > 1-Sample t...

One-Sample T: BP Increase

Variable N Mean StDev SE Mean 95% CI
BP Increase & 2.283 0.950 0.388 (1.287; 2.280)
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Stat > Basic Statistics > 1-Sample t...

One-Sample T: C1
Tezgt of mu = 13.5 v not = 13.5

Variable N Mean StDev SE Mean 95% CI T =]
Cl 9 13.000 0.510 0.170 (12.008; 13.39%92) -2.94 0.019
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Stat > Basic Statistics > 1 Proportion...

Test and Cl for One Proportion

Sample X N  Sample p 95% CI
1 637 1000 0.637000 (0.606327; 0.666863)
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